SPLAY Tree



What is splay tree?



A Selr adjusting
binary search tree.




Why we learn splay
tree?




For the advantage

of the quick read
ana access the

element.




Caching systems



Dynamic Search
ITree




Network routing
algorithom




Database systems



Text Editors and
data compressions




Online algorithom
optimizations



File systems



How It adjust the
tree?




thiS Tree Ttakes all
recently updated
element in root.













Let’s solve all of its
ISSUe.




[ts addalition

cdeletion and

searching is same
as red black tree




[t also adjust the
tree using the
rotations.



e |eft rotation
e right rotation







Lett heavy sitution
| Zig sitution.



Here we perrorm
the right rotations.










right heavy / zag
sitution




Here we need to
perform the left
rotations.
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This Is called the R- @

R sitution or zag zag
sitution



Here we need to
perform the left
rotation
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left rotation on parent node. @
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Now we perrorm
the right rotations













7\ perform right on

parent
®)






rotate left on
parent
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| ets solve an
example.



9,4,06,2,1, 5,338,/





































































Try to add 8 and 7
Trom your own.




Now go to the
iImplementations



